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PART-A/F-qqt

1. (a) Define the term scarcity as used in economics'

qaffi&s gsqo SzllelisF {t"{"mA< xsl fixt I

(b) What is oPPortunitY cost ?

TRIrt <is ft ?

(c) If marginal utility of a commodity is higher than the price' then the

consumer will buy more of the commodity' 1

(VVite true or falx)

<fr ebt q<l< qfr-s €4tqtngl E<lA< F-sts qit-+ qs' Nrc E"ffi
wi.A wuu qn nq ffr.Ru' (sa a qva fr-4t)

(d) What will be the effect of price change on supply of a commodity

with PerfectlY inelastic suPPlY ? 1

xlf vQ@i"r+ c<tttF{'-om '4il E<l-< csEls w{ {R<6< erq< fr ck ?

' (e) How will an increase in the price of inputs shift the supply curve ?

Eetrqrdq{< q<{kc-{ c{ttll{ 6{'rtl-< csr{ qafs{ cl({ $R{ ?

U) What is shut-down Price ? 1

qffiqqnfr?

2. Why the production possibility curve slopes downward from left to right ?

Ee"M{ qst{ftRst c+lt fr{ <l\iqa-{ "RI dTlfr{ frqft ur<p q t

3. Give ttoo reasons of a leftward shilt in the demand curve' 2

urRfl cq.[ <triqra qi-{tsRs <r< filonq Em< <t t

4. The price elasticity of demand of a commodity is 4 and the percentage

.h"ng" in price is 8' Find the Percentage change in the quantity

demanded.
qBt Es-{ urRt< E-{ Q&qt"fs'c-t 4 ql$ [s{ {so-<t {ffi 8' flRn< $'s-d
qR<6 uffqt s<tt

5. What is fixed factor ? Give one example'

fuE"nnnft z qFlEqE<qfi$t
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6. What is meant by inelastic supply ? Draw an inelastic supply cuwe.
'L+7=2

qRfrq,r+ crt'll{ fr ? qurq'qQ&a,rs c{ttflr 6T.{l qF;T srtt

7. Mention fzoo differences between monopoly and perfectly competitive
market. 2

qs[86Tl {siK \nFF t{ Effitq{{s <q<< ra "ttaFs E.m{ s-{ r

8. Distinguish between change in quantity demanded and change in
demand. 4

Ufrd< 4m{ qffi o{s dQn< {ffi< {fw qt?FsJ fi"19<tt

9. Mention the relationship between total utility and marginal utility. 4

{b €"mnq qr ffi Cqrqfiq< {w c-{6 Eaq <tr

10. What is variable cost ? Why the average variable cost (AVC) curve

becomesUshaped? 7+3=4

qffiftE <ls ft I av qMfi-q <rg 6{{l (AVC) ftr u qTF{ t

. 11.. The production function of a firm. is Q=211'.K2 .

Find the amount required of factor K if the firm wants to produce 200

: uniB witlr available 16 units of factor L .

(Q = OutPut, K{aPital, L = Labour) 4

q?F <rclr s&6n< Eqctma wd6t {f, Q=2i''.K2 I d&6F"I[{' aq{ ro .sm

r EeilqF< Erntcrtc< 200 ql*F u<I Eq"flq{ sR< ffi"cq drlllw 6{l
x-B"nqFK qRqFt rtfit T-{t I (e = Eqttn+< qfutt r: g'$r, L= Ar) |

72. Mention the effects of the following on the supply of a commodity'
2+2=4

O Fall in the Price of factors.

(iil Rise in the Per unit tax.

qBt E<F 6{tftl-+r seFtg s-ds BGT{ s-<t c{< efef< Bffi{ FII
a) $eflqlirlF q-{< $'c'l

(it qG ,q'fi E<ls s< 1frI
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13. Explain the Law of Variible Proportion with diagram'

Fq< q-{ls qffid €cttqF RkcA <I'{tril s<tl

Or / qc!a1

The total fixed cost of a firm is Rs' 200' Fill in the blanks of the following

table. 
6

q${ a&6td< $ R< <F< {fi{tcl 200 trst r sq< srB-oqa {-'l6f cl I

14. Explain the process of Long-run Equilibrium Price determination

p"ifu"tty competitive industry with diagram'

{aMd-vrqir+ Scqran ftffia sl<ttli q< fi(<q< sffii Gq< qRrF

<l't?l]l $-{t I

Or/wlal

show the effects of change in demand of a commodity on equ,ibrium
3+3=6

price, if

O the supply of the commodity is perfectly elastic

(it the supply of the commotlity is perfectly inelastic'

,'{31 q-<F sFrcN, r+{ €q<s EIR?I "iffi{< egl< fi$t {frR --

EsdF clrfia t(Q&"ql"rs

of

6

o
(it
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PART-B/{-qst

15. (a) In what circumstances, the GDP of an economy can be equal to

GNP? 1

fr w{Els q?FI cr"l{ GDP, GNP 1 qnfi $ alfm?

(b) What is transfer PaYment 
? L

€sfis 'iRr.ttq ft r

(c) What is voluntary unemployment ? 1

ctEfN fr(FI fr

(d) What is Break-Even income ? 7

c'{Els\tt q|it ft t

k) What is the full form of GST ? 1

65T1q-f <+5t ft t

0 What is zero Primary deficit ? 1

W aFItrs qF fr t

16. Mention tzoo sublect matters of Macroeconomics'

q{ffi qeffig'F< fDFsr<-q Em"t Ft t

77. Mention any tutotypes of leakages found in the Circular Flow of Incom;

q{< E6{ s<re Es< ffi ffirql f'rWsK Rrc-r Gct{ s.<ll

18. What is investment multiplier ? Write the relationship between investment

multiPlier and MPC' 
1+"1=2

FRmt et+ ft r Rfrmn sct+ qr$ *pg-a fle< q'4{-& fr"{ I
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19. Mention the fzoo primary functions of money.

{ER fAWoldEmq+-{tr

20. Mention ftoo differences between revenue receipts and capital receipts.

qqE EfB q$ 1.o,{ft Etft< w< fil tdor frqt r

27. State kuo sources of supply of foreign currency. 'L+1=2

t<rqfis 1an mt+< fitEqc Emq +-<tr

22. The value of MPC of an economy is 0'4. \ Ihat amount of new investment
is required to generate new income of Rs. 500 crore in the economy ?

q"l{ qcm&s Mpc < TFr 0.4 I qcfr&llis +9t+ soo 6stF t-st qt{ g<tfu {-<t<

{r< fr "tfuf< iEa ftfrrflrR smfqq q{ ?

23. Explain any tzoo fiscal measures to solve the problems of excess demand in
an economy. 2+2=4

qcl{ qemG< qErfrs utfut<:iwtt cT|{n s<F <t6< frr+r+t fil<mrqfu <r<"4

{iFfi {{lr

Mention four factors causing disequilibrium in Balance of Payment of a
counhy. 4

,!?Ft firFt'iRrfi{ qTsls smwt'+e-t @ o<t 5ffi$ffi{ €mq +-<tr

25. Write down /oar differences between Direct Tax and Indirect Tax.

ersl-s $i{ ql$ 'lr{ts FF{ $wr atQFt "nqf+l fi"{II r

26. What is Budget Deficit ? What are the three types of Budgetary Deficit ?

1+3-4

<lrqbRfifr l<rrsbqF< &fiFrer+nfrft t

2

4
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27. Describe the Circular Flow of Income in a Three Sector Economy. 6

q?F ffit {s{@ qfrftq qF{ Dfr{ eKR{ R<<q fro t

Orl wlztt

Explain the Expenditure Method of calculating Gross Domestic Product

1cbn1. 6

fb qffir $qe[q{ ttsil< <]-{ "ffifi <I'I"{UI GI t

28. Explain the process of credit creation by commercial banks. 6

qlfteT'$ 6<rc<t 4"t {E< affit <itr,n oEtt

ar/ q{4
Describe the Quantitative methods adopted by the Central Bank to control

credit created by commercial banks. 6

<ffteT-s c<(m @ +-<t <r"tfirq*r <tr< cs-fiI c<irs $qt s-$ qRqrqa\5 qq&6t

\TfFrtE;[t sqf I
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